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HH & LA /8
® XRDEAFEZELAGILY,
D (+2)+(+3)=5 @ (+9+(+7)=16
@ (=5)+(—4)=-9 @ (—6)+(—26)=—232
® (+3.5)+((+1.7=5.2 ® (—3.6)+(—0.5)=—4.1
2 1 3 7 3 10
@ (+3) + (+3) =% (-15) + (13) =13



A—16 EQHEBDHDMED

HH & LA /8
@ RDFEZELAGIL,
D (—6)+(+13)="7 @ (—1D+(+3)=—14
® (+9+(—3) =86 @ (+4)+(—12)=—8
® (—2.4)+(+3.2)=0.8 ® (+2.9+(—5.1)=—2.2
1 3 1 1 1y 1
D (-y)+ (+3) =3 (+3) + (-2)= %



A—17 EQ#EBDOHDFED

HH & LA /8
® XRDEAFEZELAGILY,
D (+8)—(+2)=6 @ (+5)—(+14)=—9
® (—12)—(+13)=—25 @ (—21)—(+11)=—32
® (+4.6)—(+0.99=38.7 ® (—38.5)—(+6.5=—10
1 5 2 3 3
D (+5) —(+g) =3 o~ (+7)=-7
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HH & LA /8
® XRDEAFEZELAGILY,
D (+2)—(—3)=5 @ 0—(—9=9
® (-5 —(—8)=3 @ (—13)—(—6)=—17
® (+1.5—(—2.1)=3.6 ® (—4.6)—(—5.2)=0.6
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@ RDHAEZLEGEELY,
D 8—(—3)—(—6)
=8+3+6

=17

@ 9+ {—8—(—12)}
=9+ (—8+12)
=9+4
=13

® 4+(—3.2)—6.2—(+2)
=4—8.2—6.2—2
=—17.4

@ —12+(—9) —(—5)
=—12—9+5
=—16

@ 2+ {(—3)+10} —4
=2+(—38+10)—4
=2+7—4
=5
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A S AT]
@ RDFHEZHELEILY,
D (+4)x(+3)=12 @ (+2)x(+7)=14
® (+6)x(—9)=—>54 @ (+10)x(=8)=—80
® (+1.5)x(+4)=6 ® (+1.1D)x(=2)=-—2.2
1 _ 1 2 1
@ (+3) X(—3)=—1 <+8>X<+3>:E



A—22 EQOHEEDHDRED

HH D A]
® XRDEAFEZELAGILY,
D (—4)x(+7)=—28 @ (—8)x(+5)=—40
® (—1x(=1D=1 @ (—13)x(—4)=52
® (—3.1D)x(+2)=-6.2 ® (—2)x(—6.4)=12.8
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A—23 EEQOHEEDHEDEGE

HH % 4Ei
@ RDFEZELAGIL,
D (+8)(+4)=2 @
® (—3)+(+12)=—i @
® (—2.4)+(-2)=1.2 ®
12\ . 38
@ <—g T(_S)_lo

(+15)+(—=5)=—38

0+-(—16)=0

(+n+ (—g)=—9

()= (3)-1



A—24 FERERRE

HH & LA /8
® XRDEAFEZELAGILY,
DO (+2)X(=3)x(+4)=—24 @ (—4)X(—3)x(+4)=48
® 6X(—5)X0xX19=0 @ (—2)x(—9)+3=6
® 25+(—8)+5=—% ® (—0.4)X(—5)X(—8)=—16

@ (—%) +4><3=—% (—%) X6+ (—%):%
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ROEFAEZLEILY,
5°=25

®© @

® —(—6)=_236

@ (—2)°X5 =—40

(—8)* =64
(—3)°=—27
(—1)°=—1

3x(—4%)=—148



A—26 MAINREC-1-51ED
W & A

@ RDHAEZLEGEELY,
D 3—4x(—5)
=3+ 20

=23

® 7x2°-19
=T7TX8—19
=56—19

= 37

® 4—6)x{—3+(7T—9)}
=—2%X(—8—2)
=—2X(—5)

=10

® —12+4+24+(—23)
=—3-—8
=—11

@ (15+3—3%)x2
=(5—9) %2
=(—4)x2
=—38

® 11+ {1—(—6)*+3}
=11+(1—36+3)
=11+ (1—12)
=11—11

=0
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T Y 5

® RDEEZLLGSLY,

D —4.5-25%x(—2) @ (_%) 6§ (_%>
=—4.5+5
=0.5 = (_%) X 6— 8 X (_%)
4 16
=33
=4
@ 7x{3°+3.5 x(—4)) @ (—%) X 47— (‘%)
=7X(9—14)
=7x(—5) = (—¢) x16— (-2)
=—35 =_2+%
1
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® 20— {36— (—i) x(—2%}

=20~ {36— (—) x(—9}

=20—(36—2)
=20— 34
=—14
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® HNEEAZEST, ROFHEZLGEL,

1 1 3 7
@® (5—1-5) X 6 @ 8x (Z—§>

1 1 3 7
=5 X6+35X6 =8XZ+8X(—§)
=3+2 =6—17
=5 =—1
® (5 -¢) x30 @ 21x (~5 +2)

1 2

=—11 =—1
<D(—%+%)x@a@ @(—1QX(—§—%)

4 5
= (-3 x(2012x (20 =C18x(—5) +(—18% (—5)
=18—16 =8+156
=9 =23
@ 78X (—3)+78X(—17) ® 5.7X(—12)+5.7x(—18)
=78X(—38—"1) =5.7X(—12—8)
=78X(—10) =5.7%(—20)

=—"780 =—114



